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I will decree Toom’oh even on the olive harvest

Overview

"R decreed that one must harvest (777°%2) grapes 711702, for the liquid oozing onto
the grapes makes them 7R2W 2p% w1, He was asked by %7 why by harvesting
olives (7P on) there is no such requirement, *Xnw retorted (somewhat sarcastically),
‘1if you will anger me I will decree Xm0 also on 73°0%°. Our MdOIN explains why
indeed was >X»W not M2 on 1IpP°0nA.
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N2 9''977 explained the reason why *X»w did not indeed decree XY on 7IP%R -
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For the reason of the decree by grapes, which is that perhaps he will harvest them
nNIBER NP, that reason is not applicable to olives, for the sap they exude is not
considered juice —

mMooIN anticipates a difficulty:
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And regarding this which we learnt in 19"won noon; ‘the »m% of oil is like oil’, it
too can be won —

mooIn replies:
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One can say, that the miwn there is discussing 271 which comes out after 73 3N,

which is after they were in the 921> two or three days -
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! mpown Moy means baskets which are tarred, so the liquid collects in them. When one is harvesting grapes without
Mmoo NMdR, he is not happy when some juice is squeezed out of the grapes, because they get lost and he is losing
some of his produce. However when he is harvesting the grapes N951 n191p2 he is pleased with the juice for they will
remain in the basket and be part of his wine harvest. In order for 7pwn (which are not directly placed by a person on
the food) to be 7"won, the person must be pleased with the 1"pwn on his food.
2 The juice exuded by the grapes are kept and processed for wine, however the 777 coming from the harvested olives
are discarded and cannot be used for the olive oil processing. They are not considered npwn and therefore not "wan.
3 This contradicts what MmN just said that the 17 XX171 977 is not considered apwn.
4 See *nR7 11"72 2,7p PR "1 who writes on the X3 of FRANW T AR 7T PAT 2ANNTY 1 TNMY KD .RNZIOR N2 NRT
o mon. It seems the olives are put in this container called 715 and there they get warm and put pressure on each
other. This causes some 27 to be discharged. This 27 according to 2py> ' is considered pwn and is 93P Pwon
7xmw. [Note in the 7awn as well as in the X3 later it is referred to as 2mn not as 2mn.]
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And that 7wn in 2°22 is in accordance with 2p° '3 in the beginning of nan P -
- NNOT DTN APY 39 199N NPIONM M1 HY N8N Y YaN

However the %7 which is excreted through harvesting, even 2py° ' admits that

it is 997, This explains why one reason of the M7°13 on 772 does not apply to P07 -
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And also the 773 of° mow and the 7713 of ‘sometimes a person goes out to his
vineyard to see if it is time to harvest his grapes’;® these two reasons (for 77°%2

717v2) also do not apply by olives’ -
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And now it will be properly understood this which the Xnss93 states later in the
beginning of nsan P> -
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One who crushes olives to discern if his olives are ready to harvest or not, they
are not W12 to be 7RMY Hapn for at this stage they are not 7pwn.

Summary
The 912 that is exuded from olives at harvest time is not considered a apwn.

Thinking it over
npoIN did not discuss the wwn of NMRHY MDA 11X XKW, how is that wwn also

averted by an’r npoon?’

5 mMowi means biting. One reason why 77702 P2 is because of N1dw. See MW7 7"7 >"w that sometimes it is
necessary to separate clusters of grapes which are ‘biting’ (entangled with) each other, and by separating them he
cause some juice to flow over the grapes; and since he is doing it 2°7°2 and he must squeeze out some juice it is 1won.
6 This is yet another reason why 77702 77¥12 because when the person checks to see whether his grapes are ready for
harvest, he squeezes a cluster of grapes (to see if they are ripe) and sprays the juice on the other grapes, and they
remain wet even at harvest time, so then they become 8?0 923p% WA,
" Olives do not grow in clusters that can be entangled, and even if one squeezes an olive to see if it is ripe, at that stage
it is not considered npwn.
8 Now that we say that the 9% which comes out of the olive before it is placed in the 7313 is not pwn.
9 See 27177 Y.
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